
General Specifications 

Standard bore diameter d1, d2 (mm) and rated transmission torque (n-m) 
Model 

3 4 5 6 6.35 7 8 10 11 12 14 15 16 18 19 20 22 24 25 28 30 35 42 

ALS-014-R 0.31 0.42 0.54 0.65 
ALS-020-R 1.2 1.6 2.1 2.2 2.6 3.0 
ALS-030-R 2.0 2.2 3.4 4.7 5.4 6.0 7.4 
ALS-040-R 8 16 23 31 34 34 34 
ALS-055-R 38 41 48 51 54 61 67 71 80 
ALS-065-R 61 68 75 79 89 96 114 
ALS-080-R 108 121 151 194 

s B G M 
lightening 

Torque 
(N-m) 

3.5 4.8 1 • M2 0.4 
1 5 6.5 1 -M2.5 1 

1.5 5.5 10.5 1-M3 1.5 
2 12.5 15 1 ·M5 7 
2 10.5 20 1-M6 14 

2.5 11.5 24.5 1-M8 30 
3 11.5 30 1-M8 30 

Radial Moment 
stiffness of inertia Mass 
(N/mm) (Kg-m2) (Kg) 

380 1.98x10·7 0.007 
400 1.09 x 10-11 0.019 
650 6.19 x 10-11 0.045 
1700 4.01 x 10·5 0.16 
1350 1.63 x 10-4 0.34 
1400 3.69 x 10-4 0.54 
1710 1.04 x 10·3 1.00 

General Specifications 

Misali9nment Max Static trosional 
Model Parallel Angular Axial rotation speed stiffness 

(mm) (0) (mm) (min-1) (N-m/rad) 

ALS-014-R 0.10 o- +0.6 10000 21 
ALS-020-R 0.10 o- +0.8 10000 43 
ALS-030-R 0.10 o- +1.0 10000 136 
ALS-040-R 0.10 o- +1.2 10000 1550 
ALS-055-R 0.10 0 - +1.4 7000 2000 
ALS-065-R 0.10 o- +1.5 5900 3100 
ALS-080-R 0.10 o- +1.8 4800 6000 

• Axial dlsplacement Is not allowed In the negative dlrecoon. 
• Max. rotation speed does not take 1nto account dynamk balance. 
• Stiffness values given are from measurements taken at 20'( 
• The moment o( lnertla and mass are measured for the maximum bore diameter. 

General Specifications 

Model D DB L L1-L2 E 
min. min. 

ALS-014-R 0.10 0.10 14 16.1 22 7 8 
ALS-020-R 0.10 0.10 20 20 30 10 10 
ALS-030-R 0.10 0.10 30 30 35 11 13 
ALS-040-R 0.10 0.10 40 43.2 66 25 16 
ALS-055-R 0.10 0.10 55 55 78 30 18 
ALS-065-R 0.10 0.10 65 69.8 90 35 20 
ALS-080-R 0.10 0.10 80 80 114 45 24 

•ALS-055 to 080 •ALS-040 •ALS-01 4 to 030 

ALS R Types Clamp Type 

0 

IKI PULLEY 

1



2



Article number ds p Dg6 01 02 03 Drill L L1 L2 L3 s B dk Dyn.load Stat load Axial play Mass 
template Cdyn[N] C0[N] Max.[mm] [kg/pc] 

R16-05T3-FSIDIN 16 5 28 48 38 5.5 5.5 40 10 10 5 M6 40 12.8 7320 12470 0.04 0.17 

R16-10T3-FSIDIN 16 10 28 48 38 5.5 5.5 60 10 10 5 M6 40 12.8 6230 11000 0.04 0.25 

R20-05T4-FSIDIN 20 5 36 58 47 6.6 6.6 52 10 10 5 M6 44 16.9 11560 24000 0.04 0.29 
R20-1 OK3-FSCDIN 20 10 36 58 47 6.6 6.6 48 10 10 5 M6 44 17.3 10000 23500 0.04 0.27 
R20-20K2-FSCDIN 20 20 36 58 47 6.6 6.6 57 10 10 5 M6 44 17.0 6800 15300 0.04 0.30 
R25-05T4-FSIDIN 25 5 40 62 51 6.6 6.6 52 10 12 5 M6 48 22.3 12400 32960 0.04 0.31 
R25-10T3-FSIDIN 25 10 40 62 51 6.6 6.6 65 10 16 5 M6 48 21.2 16500 32700 0.04 0.35 

R25-25K2-FSCDIN 25 25 40 62 51 6.6 6.6 70 10 16 5 M6 48 22.3 7500 19300 0.04 0.37 

R32-05T6-FSIDIN 32 5 50 80 65 9 9 66 12 12 6 M6 62 29.1 20560 64700 0.04 0.70 

R32-10T4-FSIDIN 32 10 50 80 65 9 9 85 12 16 6 M6 62 27.7 38500 65000 0.04 0.82 

R32-20K3-FSCDIN 32 20 50 80 65 9 9 88 12 16 7 M6 62 28.7 17000 48500 0.04 0.88 

R32-32K2-FSCDIN 32 32 50 80 65 9 9 88 12 12 6 M6 62 28.7 11600 31800 0.04 0.88 

R40-05T6-FSIDIN 40 5 63 93 78 9 9 66 14 10 7 M8x1 70 36.7 23360 80300 0.04 1.10 
R40-1 OK4-FSCDIN 38 10 63 93 78 9 9 70 14 16 7 M8x1 70 32.9 45000 123000 0.07 1.10 

,~~==DIN ae 20 63 93 78 9 9 88 14 16 7 M8x1 70 32.9 34850 
t, R40-40K2-FSCDIN 38 40 63 93 78 9 9 102 14 16 7 M8x1 70 32.9 23000 ,,_ - 

~ RS0-05THSIDIN 50 5 75 110 93 11 11 70 16 10 8 M8x1 85 46.8 25320 

};~:!O~~FSCD_!!:! 50 10 75 110 93 11 11 90 16 20 8 M8x1 85 44.9 74500 250000 1.55 -- R50-20K5-FSCDIN 50 20 75 110 93 11 11 132 18 25 9 M8x1 85 45.5 62000 208000 0.07 2.10 -·- ·- - --- -- R50-40K3-FSCDIN 50 40 75 110 93 11 11 149 18 45 9 M8x1 85 45.0 39000 123000 0.07 2.50 

' ~ f 

Drill template 2 
ds~40 

Drill templat~ 1 
ds~32 

Lubrication hole 

DIN Single Nuts FSC DIN [DIN 69051 part 5] 
DIN Single Nuts FSI DIN [DIN 69051 part 5] 

eee 
Linear Motion Products & Technology 

3



HQ MOTIONHQ MOTIONHQ MOTION

BallScrews

4



Dimensions of 
Mounting 

Dynamic Static Static Rated Weight 

Assembly Dimensions of Block Dimensions of Rail Bolt 
Load Load Moment 

Model No. (mm) (mm) (mm) for Rail 
Rating Rating (kgf-m) Block Rail 

(mm) 
(kgf) (kgf) (g) (kg/m) 

H H1 N w B 81 c L1 L G Mxf o, H2 WR Ws HR D d p E c Co Mo Mx My 
MGW7-C 

9 1.9 5.5 25 19 3 
10 21 31.2 M3x3 00.9 1.85 14 5.2 6 3.2 3.5 30 10 M3x6 140 210 1.6 0.73 0.73 20 

0.51 
MGW7-H 19 30.8 41 180 320 2.39 1.58 1.58 29 
MGW9-C 21 4.5 12 27.5 39.3 280 420 4.09 1.93 1.93 40 

12 2.9 6 30 M3x3 01.0 2.4 18 7 6 4.5 3.5 30 10 M3x8 0.91 
MGW9-H 23 3.5 24 38.5 50.7 350 600 5.56 3.47 3.47 57 

MGW12-C 15 31.3 46.1 400 570 7.17 2.83 2.83 71 
MGW12-H 

14 3.4 8 40 28 6 M3x3.6 01.0 2.8 24 8.5 8 4.5 4.5 40 15 M4x10 1.49 
28 45.6 60.4 520 840 10.47 5.85 5.85 103 

MGW15-C 
16 3.4 9 60 45 7.5 

20 38 54.8 
5.2 M4x4.2 3.2 42 23 9.5 8 4.5 4.5 40 15 M4x10 690 940 20.32 5.78 5.78 143 

2.86 + 
MGW15-H 57 73.8 910 1410 30.48 12.5 12.5 215 

I 
I -~I 

l

--~·-- 
,---1 I 

--- __l,_ 

Mounting 
Basic Basic 

Dimensions of Dynamic Static Static Rated Weight 

Assembly Dimensions of Block Dimensions of Rail Bolt 
Load Load Moment 

Model No. (mm) (mm) (mm) for Rail 
Rating Rating (kgf-m) Block Rail 

(mm) 
(kgf) (kgf) (g) (kg/m) 

H H1 N w B 81 c L1 L G Mxf Gn H2 w, H, D d p E c Co Mo Mx My 
MGN7-C 8 13.5 22.5 100 127 0.48 0.29 0.29 10 

8 1.5 5 17 12 2.5 M2x2.5 00.8 1.5 7 4.8 4.2 2.3 2.4 15 5 M2x6 0.22 
MGN7-H 13 21.8 30.8 140 200 0.78 0.49 0.49 15 
MGN9-C 10 18.9 28.9 190 260 1.2 0.75 0.75 16 

10 2 5.5 20 15 2.5 M3x3 00.8 1.8 9 6.5 6 3.5 3.5 20 7.5 M3x8 0.38 
MGN9-H 16 29.9 39.9 260 410 2 1.9 1.9 26 

MGN12-C 15 21.7 34.7 290 400 2.6 1.4 1.4 34 
13 3 7.5 27 20 3.5 M3x3.5 00.8 2.5 12 8 6 4.5 3.5 25 10 M3x8 0.65 

MGN12-H 20 32.4 45.4 380 600 3.9 3.7 3.7 54 
MGN15-C 20 26.7 42.1 470 570 4.6 2.2 2.2 59 

16 4 8.5 32 25 3.5 4.5 M3x4 + 3 15 10 6 4.5 3.5 40 15 M3x10 1.06 
MGN15-H 25 43.4 58.8 650 930 7.5 5.9 5.9 92 

(2) MGW-C I MGW-H 

My 

~ 
~ + w 

Mo 

(1) MGN-C I MGN-H 

2-3-12 Dimensions for HIWIN MGN I MGW Series 

HIWIN®Hil 
Linear Motion Products & Technology M OT I O N 

MGN 7,

MGN 9,

MGN 12,

MGN 15

MGW 7,

MGW 9,

MGW 12,

MGW 15,

5



6



63 53 26 22 18 150 35 M18x50 208.36 

63 53 26 22 18 150 35 M18x50 163.63 

60 20 M8x25 60.21 34 29 14 12 12.6 

34 29 14 12 9 60 20 M8x25 49.52 

80 20 M8x25 47.27 28 26 14 12 

303.13 9.38 7.38 7.38 12.89 21.18 

196.20 4.88 4.57 4.57 5.96 15.08 

215.33 6.65 4.27 4.27 9.17 21.18 

148.33 3.69 2.64 2.64 4.52 15.08 

136.46 2.63 2.68 2.68 3.69 10.41 

102.71 1.98 1.55 1.55 2.79 10.41 

91.63 1.54 1.40 1.40 2.06 6.30 

69.16 1.16 0.81 0.81 1.56 6.30 

69.16 0.88 0.92 0.92 1.44 4.47 

52.19 0.66 0.53 0.53 1.09 4.47 

32.75 

60 20 M8x25 38.74 28 26 14 12 

36.49 0.42 0.33 0.33 0.59 3.21 

49.44 0.56 0.57 0.57 0.80 3.21 

26.48 60 20 M6x20 

60 20 M6x20 

23 22 11 

23 22 11 

35.90 0.35 0.35 0.35 0.52 2.21 21.18 20 17.5 9.5 8.5 6 60 20 M5x16 6 

20 17.5 9.5 8.5 6 60 20 M5x16 

15 15 7.5 5.3 4.5 60 20 M4x16 

27.76 0.27 0.20 0.20 0.40 2.21 17.75 

(nvn) P E 

16.97 0.12 0.10 0.10 0.17 1.45 11.38 

C(kN) 

Moulbng 
Bdl For 

Rai 
Ownenslons Of Rai (nvn) 

Wf!lfi/1. 
Blocl< Rai -­ Momeni 

Mp 

30313 9.38 7.38 7.38 982 21.18 

21533 665 4.27 4.27 700 21.18 

19620 4.88 4.57 4.57 5.49 15.08 

14833 3.69 2.64 2.64 417 15.08 

13646 263 268 268 361 1041 

69.16 1.16 0.81 0.81 145 6.30 

91.63 1.54 1.40 1.40 1.92 6.30 

102.71 1.98 1.55 1.55 2.73 10.41 

69.16 0.88 0.92 0.92 1.16 4.47 

52.19 0.66 0.53 0.53 088 447 38.74 

49.44 0.58 0.57 0.57 0 69 3 21 

36.49 0.42 0.33 0.33 0.51 3.21 26.48 

32.75 

35.90 0.35 0.35 0.35 0.39 2.21 21.18 

27.76 0.27 0.20 0.20 0.30 2.21 17.75 

11.38 
Co(l<N) - - - Kg Kglrn 
16.97 0.12 0.10 0.10 0.18 1.45 

C(kN) 

w..,,,. 
Blocl< Rai 

ooe 

HG Series Heavy Load Ball Type 
HGW-CA I HGW-HA 

63 53 26 22 18 150 35 M18x50 208 36 

63 53 26 22 18 150 35 M18x50 163 63 

53 44 23 20 16 120 30 M14x45 139 35 

45 38 20 17 14 105 22 5 M12x35 94 54 

HGW65HA 90 15 53.5 170 142 14 110 203.6 259.6 52.8 14 12.9 M16 25 37.5 15 15 

HGWSSHA 70 13. 43.5 140 116 12 95 155.8 204.8 36.4 11 12.9 M14 17.5 26.5 12 19 

HGW65CA 90 15 53.5 170 142 14 110 144.2 200.2 23.1 14 12.9 M16 25 37.5 15 15 

HGW55CA 70 13 43.5 140 116 12 95 117.7 166.7 17.35 11 12.9 M14 17.5 26.5 12 19 

53 44 23 20 16 120 30 M14x45 139.35 

HGW45HA 60 9.5 37.5 120 100 10 80 128.8 171.2 28.9 10 12.9 M12 15.1 22 8.5 20.5 45 38 20 17 14 105 22.S M12x35 94.54 

12 M10 10.1 18 62 105.8 138.2 27.5 HGW35HA 46 7.5 33 100 62 

53 44 23 20 16 120 30 M14x45 114.44 

HGW45CA 60 9.5 37.5 120 100 10 80 97 139.4 13 10 12.9 M12 15.1 22 8.5 20.5 45 38 20 17 14 105 22.S M12x35 77.57 

12 M10 10.1 16 9 12.6 62 60 112.4 14.6 HGW35CA 48 7.5 33 100 82 

52 93 120.4 25.75 12 M10 8.5 16 6.5 10.8 31 90 72 HGW30HA 41 

12 M10 8.5 16 6.5 10.8 52 70 97.4 14.25 31 90 72 HGW30CA 41 

14 HGW25HA 36 5.5 23.5 70 57 6.5 45 76.6 104.6 21 

14 12 M8 

12 M8 

84 10.7 HGW25CA 36 5.5 23.5 70 57 6.5 45 58 

10 12 M6 40 65.2 92.2 17.6 HGW20HA 30 4.6 21.5 63 53 

10 6 12 M6 40 50.5 77.5 10.25 HGW20CA 30 4.6 21.5 63 53 

8.9 3.95 3.7 4.85 5.3 MS HGW15CA 24 4.3 16 47 38 4.5 30 39.4 61.4 

H H1 N W 8 81 C Lt 

Dmons,oos Of Block (mm) 
Dimensions 

Of Assembly 
(nvn) 

Model No. 

HG Series Heavy Load Ball Type 
HGH-CA I HGH-HA 

HGH65HA 90 15 31.5 126 76 25 120 203.6 259.6 47.8 14 12 9 M16x20 25 15 15 

HGH65CA 90 15 31.5 126 76 25 70 144.2 200 2 43 1 14 12 9 M16x20 25 15 15 

HGHSSHA 60 13. 23.5 100 75 12.5 75 155.8 204.8 36.4 11 12 9 M12x18 17.5 22 29 

HGH55CA 60 13 23.5 100 75 12 5 75 117.7 166.7 27.35 11 12 9 M12x18 17.5 22 29 

HGH45HA 70 9.5 205 86 60 13 60 1288 171.2 289 10 129 M10x17 16 185 305 

53 44 23 20 16 120 30 MUx45 114 44 

HGH45CA 70 9.5 20.5 86 60 13 60 97 139.4 23 10 12.9 M10x17 16 18.5 30.5 45 38 20 17 14 105 22.S M12x35 77.57 

34 29 14 12 

80 20 M8x25 49 52 

80 20 M8x25 60.21 

34 29 14 12 

60 20 M8x25 47 IT 28 26 14 12 

28 26 14 12 

60 20 M6x20 

60 20 M8x25 

23 22 11 

7 60 20 M6x20 23 22 11 

20 17 5 9.5 8.5 6 60 20 M5x16 

20 17 5 9.5 8.5 6 60 20 M5x16 

15 15 7.5 5.3 4.5 60 20 M4x16 

(nvn) P E 

Moulbng 
Bdl For 

Rai 
Dimensions Of Rai (mm) 

12 M8x12 10.2 16 19 6 

12 M8x12 10 2 16 19 6 HGH35CA 55 7.5 18 70 50 10 50 60 112.4 20 6 

HGH35HA 55 7.5 18 70 50 10 72 105.8 138.2 22.5 

12 M8x10 8.5 9.5 13.8 16 60 40 10 60 93 120.4 2U5 

12 M8x10 8.5 9.5 13 8 16 60 40 10 40 70 97.4 20.25 HGH30CA 45 

HGH30HA 45 

10 12 M6x8 HGH25HA 40 5.5 12 5 48 35 6.5 50 78 6 104.6 18 5 

10 12 M6x8 84 15.7 HGH25CA 40 5.5 12.5 48 35 6.5 35 58 

12 M5x6 HGH20HA 30 4.6 12 44 32 6 50 65.2 92.2 12.6 

12 M5x6 36 50.5 rrs 12.25 HGH20CA 30 4.6 12 44 32 

7.95 U HGH15CA 28 4.3 9.5 34 26 4 26 39.4 61.4 10 4.85 5.3 M4x5 

H H1 N W B 81 C L1 

Dimensions Of Block (mm) 
Dimensions 

OfAssembly 
(mm) 

Model No. 

HIWIN® Ml 
Linear Motion Products & Technology MOTION 

6

7



AtO~ T,ghleoogbolt 

4-S,X I w 
J ••• E 

t~ 
' l 

'r" 
-c ~ :c .. 2-S ·o, 'i: 'l: 1- ,:; .c 

(!) 

1~T :c 

B 

4-S, 0 .... w 

SC Shaft Support SK Shaft Support 

Part No. LIB h 0 w H G A J E Part No. LM Shaft h A w H T E 0 c B 
Diameter 

SCSUU-B LMSUU 11 17 34 22 18 6 24 5 SKS <1>8 20 21 42 32.8 6 18 5 32 14 
SC10UU-B LM10UU 13 20 40 26 21 8 28 6 SK10 <1>10 20 21 42 32.8 6 18 5 32 14 
SC12UU-B LM12UU 15 22 44 30 24.5 8 33 5.5 SK12 <1>12 23 21 42 38 6 20 5 32 14 
SC12UU-B LM12UU 15 21 42 28 24 7.4 30.5 5.75 SK13 <1>13 23 21 42 38 6 20 5 32 14 
SC13UU-B LM13UU 15 22 44 30 24.5 8 33 5.5 SK16 <1>16 27 24 48 44 8 25 5 38 16 
SC16UU-B LM16UU 19 25 50 38.5 32.5 9 36 7 SK20 <1>20 31 30 60 51 10 30 7.5 45 20 
SC20UU-B LM20UU 21 27 54 41 35 11 40 7 SK25 <1>25 35 35 70 60 12 38 7 56 24 
SC25UU-B LM25UU 26 38 76 51.5 41 12 54 11 SK30 <1>30 42 42 84 70 12 44 10 64 28 
SC30UU-B LM30UU 30 39 78 59.5 49 15 58 10 SK35 <1>35 50 49 98 85 15 50 12 74 32 
SC35UU-B LM35UU 34 45 90 68 54 18 70 10 SK40 <1>40 60 57 114 96 15 60 12 90 36 
SC40UU-B LM40UU 40 51 102 78 62 20 80 11 
SC50UU-B LM50UU 52 61 122 102 80 24 100 11 

w 
J ~, 4 - S X l M w o-o• I K ro_1 

Jdl 4-S M 
K•'-' 

I 
-c 

LHJ '- 
';' ';' w 

(!) 
<!) 

h, 

e· 

SBR Aluminum Case Unit Open TBR Aluminum Case Unit Open 

Part No. UB 0 w G 9 A M sx, h1 Part No. UB 0 w G 9 A M S1 h1 E 

SBR16UU LM16UUOP 22.5 45 33 so0 9 45 M5x12 11 TBR16UU LM16UUOP 31 62 26 so0 8 42 MS 11 18 
SBR20UU LM20UUOP 24 48 39 60° 11 50 M6x12 11 TBR20UU LM20UUOP 34 68 31 60° 10 51 M6 11 21 
SBR25UU LM25UUOP 30 60 47 50° 14 65 M6x12 12 TBR25UU LM25UUOP 41 82 41 50° 12 65 MS 12 28 
SBR30UU LM30UUOP 35 70 56 so0 15 70 M8x18 15 TBR30UU LM30UUOP 45.5 91 48 50° 12 75 MS 15 34 
SBR35UU LM35UUOP 40 80 63 50° 18 80 M8x18 17 
SBR40UU LM40UUOP 45 90 72 50° 20 90 M10x20 20 
SBR50UU LM50UUOP 60 120 91 50° 25 110 M10x20 25 

 ALUMINIUM Case ClosedSCE

8



Part No. Working D 
Bore Diameter 

Resin Steel dr. ClearNCE dr. Clear NCE 
(mm) (mm) (mm) (mm) 

LME5UU-SUS LME-5-A 5 12 
LME8UU-SUS LME-8-A 8 +0.008 16 0/-0.008 
LME12UU-SUS LME-12-A 12 22 
LME16UU-SUS LME-16-A 16 +0.009 / -0.001 26 0 /-0.009 
LME20UU-SUS LME-20-A 20 32 
LME25UU-SUS LME-25-A 25 0 / -0.011 40 0 /-0.011 

H 

h 

LME Closed Linear Bushing-SUS Series 

B 

L 
1 

~: ... gj ~1 I >•1 
:c ' .. 

l i 1-i I I ..... ., 
• d, 

»; ~ 
9' 

c ~ I 
SBS Support Rail Unit 

LM Shaft 
Part No. Outer E h B H T F x y c 

Diameter 

SBS16 <1>16 20 25 40 17.79 5 18.5 8 11.7 30 
SBS20 <1>20 22.5 27 45 17.72 5 19 8 10 30 
SBS30 <1>25 27.5 33 55 21.13 6 21.5 8 12 35 
SBS35 <1>30 30 37 60 22.85 7 26.5 10.3 13 40 
SBS35 <1>35 32.5 43 65 26.62 8 28 13 15.5 45 
SBS40 <1>40 37.5 78 75 29.43 9 38 16 17 55 
SBS50 <1>50 47.5 62 95 38.79 11 45 20 21 70 

H 

ci Cl 

0 IJJ ;).<( jA~ 

LMF Flanged Linear Bushing LMK Flanged Linear Bushing 

Part No. Working D Part No. Working D 
Bore Diameter Bore Diameter 

Resin Steel dr. Clear NCE dr. ClearNCE Resin Steel dr. ClearNCE dr. ClearNCE 
(mm) (mm) (mm) (mm) (mm) (mm) (mm) (mm) 

LMF6UU-SUS LMF-6-A 6 12 LMK6UU-SUS LMK-6-A 6 12 
LMF8UU-SUS 8 15 0 / -0.011 LMK8UU-SUS 8 15 0 /-0.011 
LMF8UU-SUS LMF-8-A 8 15 LMK8UU-SUS LMK-8-A 8 15 

LMF10UU-SUS LMF-10-A 10 0 /-0.009 19 LMK10UU-SUS LMK-10-A 10 0 /-0.009 19 
LMF12UU-SUS LMF-12-A 12 21 0 / -0.013 LMK12UU-SUS LMK-12-A 12 21 0 / -0.013 
LMF13UU-SUS LMF-13-A 13 23 LMK13UU-SUS LMK-13-A 13 23 
LMF16UU-SUS LMF-16-A 16 28 LMK16UU-SUS LMK-16-A 16 28 
LMF20UU-SUS LMF-20-A 20 32 LMK20UU-SUS LMK-25-A 20 32 
LMF25UU-SUS LMF-25-A 25 0 /-0.010 40 0 /-0.016 LMK25UU-SUS 25 0 /-0.010 40 0 /-0.016 
LMF30UU-SUS 30 45 LMK30UU-SUS 30 45 
LMF35UU-SUS 35 52 LMK35UU-SUS 35 52 
LMF40UU-SUS 40 0 /-0.012 60 0 / -0.019 LMK40UU-SUS 40 0 / -0.012 60 0 /-0.019 
LMF50UU-SUS 50 80 LMK50UU-SUS 50 80 

~ / ~,SAMICK~, SAMICK 
LINE HAREKAT Co. 

GOG 

9



Model NO. Speed Ratio Unit 60 90 120 150 Model 60 90 120 150 

3 59 165 335 625 A1 PCD Lock screw 70 100 130 165 
4 51 146 300 555 A2 Screw hole dia. 5.5 6.5 9 11 

Rated output torque 5 N-m 48 160 333 618 A3 Output shaft dia. 16 22 32 40 
7 45 149 309 573 A4 Flange guide 50 80 110 130 

"' 10 43 141 294 549 
Q) 

A6 Shaft end theard M5xP0.8 M6xP1.0 M8xP1.25 M10xP1.5 N 
iii 

Max.output torque 3-10 N-m 3 times of rated output torque 'O AS Key width 5 6 10 12 c: 
Rated input speed 3-10 3,000 3,000 2,500 2,000 UJ A9 Heigh of shaft with key 18 24.5 35 43 rpm :5 
Max. input speed 3-10 rpm 3,500 3,500 3,000 2,500 a. 01 Output flange 62 100 120 150 :5 
Backlash 3-10 arcmin ~8 0 82 Output shaft length 36 52 66 92.5 
Trosional rigidity 3-10 N-m/arcmin 7 11 27 48 03 Guide thickness 7 10 13 15 
Max. radial force 3-10 N 840 6,000 7,500 14,000 BS Keyway length 20 25 40 65 
Max. axial force 3-10 N 605 5,000 3,225 12,000 86 Output shaft length 28 40 50 74 
Service life 3-10 HR 10,000 87 Flange thickness 8 12 14 15 
Efficiency 3-10 % ~97% llmonsions 89 Body length 121 170 217.5 284 
Operating temperature 3-10 OC -10°C - 90°C C1 P.C.O Lek screw 70 90 145 145 
Lubrication 3-10 Synthetic oil C2 Screw hole dia. 5.5 7 9 11 

"' Protection class 3-10 IP65 Q) C3 Input hole dia. 14 19 24 35 N 

Noise level 3-10 dB <62 ~65 ~68 ~70 
iii 

C4 32 65 84 'O Input hole depth 45 c: 
Mounting position 3-10 Any Direction UJ cs Input guide 50 70 110 130 

:5 
Weight 3-10 Kg 1.3 2.9 8 15 a. C7 Input flange 62 90 120 150 .!: 

AS Flange guide 5 8 7 6 
A10 Pin hole position 14 15 28.5 26 

07 
001 OC7 

03 

PCD 0C1 
5 BS 

"' <') a) - -- o -c -c CSl 

B6 

C2 
A9 02 

09 

L 1 (Single Stage) 

3,4,5, 7, 10 
Satge 

Speed Ratio 

SB Series [L 1 Single Stage] 

Standard Type Planetary Reducers 

Input EndOutput End

Input End
Output End

Gear Ratio   10:1

45 N.m

2 Times of rated torque

650 N

900 N

96%

0.34 kgcm

<8arcmin

60dB(A),distance 1m

Rated Torque

Instant Stop Torque 

Specication :

Max Ratial Torque

Max Axial Torque

Full Load Efciency

Intetia

Backlash

Noise

Gear Ratio   10:1

15 N.m

2 Times of rated torque

340 N

450 N

96%

0.078 kgcm

<8arcmin

60dB(A),distance 1m

Rated Torque

Instant Stop Torque 

Technical Date:

Max Ratial Torque

Max Axial Torque

Full Load Efciency

Intetia

Backlash

Noise

LB

10



Model NO. Speed Ratio Unit 60 90 120 150 Model 60 90 120 150 

15 59 165 335 625 A1 PCD Lock screw 70 100 130 165 
20 51 146 300 555 A2 Screw hole dia. 5.5 6.5 9 11 
25 48 160 333 618 

A3 Output shaft dia. 16 22 32 40 
30 45 151 311 583 

Rated output torque 35 N-m 45 149 309 573 A4 Flange guide 50 80 110 130 
"' a, 

40 43 143 298 553 
N A6 Shaft end !heard MSxP0.8 M6xP1.0 M8xP1.25 M10xP1.5 
cii 

50 48 160 333 618 "O AS Key width 5 6 10 12 c: 
UJ A9 Heigh of shaft with key 18 24.5 35 43 70 45 149 309 573 ;; 
a. 81 Output flange 62 100 120 150 100 43 141 294 549 ;; 
0 82 Output shaft length 36 52 66 92.5 Max.output torque 15 - 100 N-m 3 times of rated output torque 

Rated input speed 15 - 100 rpm 3,000 3,000 2,500 2,000 83 Guide thickness 7 10 13 15 
Max. input speed 15 - 100 rpm 3,500 3,500 3.000 2,500 BS Keyway length 20 25 40 65 
Backlash 15 - 100 arcmin ~ 12 86 Output shaft length 28 40 50 74 
T rosional rigidity 15 - 100 N-m I arcmin 7 11 27 48 87 Flange thickness 8 10 14 15 
Max. radial force 15 - 100 N 840 6,000 7,500 14,000 Dimensions 89 Bodylength 137.5 197 253.5 328.5 
Max. axial force 15 - 100 N 605 5,000 3,225 12,000 C1 P.C.D Lek saew 70 90 145 145 
Service life 15 - 100 HR 10,000 C2 Saew hole dia. 5.5 7 9 11 
Efficiency 15 - 100 % ~95% "' a, C3 Input hole dia. 14 19 24 35 oc -10°c - 90°c 

N Operating temperature 5 - 100 cii 
Lubrication 15 - 100 Synthetic oil "O C4 Input hole depth 32 45 65 84 

c: 
UJ cs Input guide 50 70 110 130 Protection class 15 - 100 IP65 ;; 

Noise level 15 - 100 dB < 65 < 68 < 70 < 72 
a. C7 Input flange 62 90 120 150 .E 

Mounting position 15 - 100 Any Direction AS Flange guide 5 8 7 5 

Weight 15 - 100 Kg 1.6 5.3 10 21 A10 Pin hole position 14 15 28.5 26 

t:1/ C4 
081 OC7 

PCD oA1 831 

~ 

PCDoC1 
BS e 

/ 

B6 e 
~@ @ta'~ 

C2 
A9 82 

89 

L 1 (Single Stage) 

15,20,25,30,35,40,50, 70, 100 
Satge 

Speed Ratio 

SB Series [L2 Double Stage) 

Standard Type Planetary Reducers 

LINE HAREKAT Co. 

008 

LB

L2 (Double Stage)

Input End

Input End

Output End

Output End

Gear Ratio   25:1

120 N.m

2 Times of rated torque

650 N

900 N

96%

0.44 kgcm

<10arcmin

60dB(A),distance 1m

Rated Torque

Instant Stop Torque 

Specication :

Max Ratial Torque

Max Axial Torque

Full Load Efciency

Intetia

Backlash

Noise

Gear Ratio   25:1

40 N.m

2 Times of rated torque

240 N

450 N

94%

0.064 kgcm

<10arcmin

60dB(A),distance 1m

Rated Torque

Instant Stop Torque 

Specication :

Max Ratial Torque

Max Axial Torque

Full Load Efciency

Intetia

Backlash

Noise

11



Model NO. Speed Ratio Unit 60 90 120 150 Model 60 90 120 150 

3 39 130 235 500 A1 PCD Lock screw 52 70 100 145 
4 35 136 225 580 A2 Screw hole dia. MS M6 MS M12 

Rated output torque 5 N-m 42 152 256 660 A3 Output shaft dia. 16 22 32 40 
7 46 136 306 540 V) A4 Flange guide 40 60 80 130 Q) 

10 25 94 225 460 
N 

AS Key width 5 6 10 12 cii 
Max.output torque 3-10 N-m 3 times of rated output torque 'O A6 Heigh of shaft with key 18 24.5 35 43 c: w 
Rated input speed 3-10 rpm 3,000 3,000 2,500 2,000 '5 82 Output shaft length 36 51.5 65.3 92 a. 
Max. input speed 3-10 rpm 3,500 3,500 3,000 2,500 '5 83 Guide thickness 7 10 13 15 0 
Backlash 3-10 arcmin ~8 84 Output shaft length 28 40 50 74 
Trosional rigidity 3-10 N-m/arcmin 7 11 27 48 86 Keyway length 20 25 40 65 
Max. radial force 3-10 N 840 6,000 7,500 14,000 Dmensions 88 Body length 122.2 167.2 217 284.7 
Max. axial force 3-10 N 605 5,000 3,225 12,000 V) C1 P.C.D Lock screw 70 90 145 145 

Q) 

Service life 3-10 HR 20,000 N C2 Screw hole dia. M4 MS MS MS cii 
Efficiency 3-10 % ~97% 'O C3 Input flange 62 100 120 150 c: w 
Operating temperature 3-10 OC -10°C - 90°C '5 C4 Input hole depth 14 19 24 35 a. 
Lubrication 3-10 Synthetic oil E cs Input guide 50 70 110 130 
Protection class 3-10 IP65 

Noise level 3-10 dB <62 ~62 ~68 ~70 
Mounting position 3-10 Any Direction 

Weight 3-10 Kg 1.3 2.9 8 16 

88 

PCD0C1 

L 1 (Single Stage) 

3,4,5, 7, 10 
Satge 

Speed Ratio 

SE Series [L 1 Single Stage] 

Circular Flange Type Planetary Reducers 
LBLE

Output End

Output End

Input End

Input End

Gear Ratio   10:1

45 N.m

2 Times of rated torque

650 N

900 N

96%

0.45 kgcm

<10arcmin

60dB(A),distance 1m

Rated Torque

Instant Stop Torque 

Technical Data :

Max Ratial Torque

Max Axial Torque

Full Load Efciency

Intetia

Backlash

Noise

Gear Ratio   10:1

15 N.m

2 Times of rated torque

340 N

450 N

96%

0.078 kgcm

<8arcmin

60dB(A),distance 1m

Rated Torque

Instant Stop Torque 

Technical Data :

Max Ratial Torque

Max Axial Torque

Full Load Efciency

Intetia

Backlash

Noise

12



Model NO. Speed Ratio Unit 60 90 120 150 Model 60 90 120 150 

15 35 130 210 500 
A1 PCD Lock screw 52 70 100 145 

20 35 142 285 530 
A2. Screw hole dia. MS M6 M8 M12 

25 42 158 320 660 

30 42 152 308 610 
A3 Output shaft dia. 16 22 32 40 

Rated output torque 35 N-m 42 136 306 540 
Cl) A4 Flange guide 40 60 80 130 ., 
N 

40 25 118 252 530 <ii AS Key width 5 6 10 12 
"O 

A6 Heigh of shaft with key 18 24.5 35 43 50 25 156 320 660 c w 
70 46 135 306 540 :5 82 Output shaft length 36 51.5 65.3 92 0. 

100 25 94 225 460 :5 83 Guide thickness 7 10 13 15 0 
Max.output torque 15 - 100 N-m 3 times of rated output torque 84 Output shaft length 28 40 50 74 

Rated input speed 15 - 100 rpm 3,000 3,000 2,500 2,000 86 Keyway length 20 25 40 65 
Max. input speed 15 - 100 rpm 3,500 3,500 3.000 2,500 °"'*- 88 Bodylength 142.5 194.8 250.1 329.3 
Backlash 15 - 100 arcmin ~ 12 Cl) C1 P.C.D Lodi saew 70 90 145 145 
T rosional rigidity 15 - 100 N-m I arcmin 5 7 11 27 

., 
N 

C2 Saew hole dia. M4 MS M8 M8 <ii 
Max. radial force 15 - 100 N 840 6,000 7,500 14,000 "O 

C3 Input flange 62 100 120 150 c 
Max. axial force 15 - 100 N 605 5,000 3,225 12,000 w 

:5 C4 Input hole depth 14 19 24 35 
Service life 15 - 100 HR 20,000 0. 

E cs Input guide 50 70 110 130 
Efficiency 15 - 100 % ~95% 

Operating temperature 5 - 100 oc -10°c - 90°c 

Lubrication 15 - 100 Synthetic oil 

Protection class 15 - 100 IP65 

Noise level 15 - 100 dB < 65 < 65 < 70 < 71 

Mounting position 15 - 100 Any Direction 

Weight 15 - 100 Kg 1.6 5.3 10 21 

B8 
A6 

C2 

L2 (Double Stage) 

3,4,5, 7, 10 
Satge 

Speed Ratio 

SE Series [L2 Double Stage) 

Circular Flange Type Planetary Reducers 

Hill IE> 
~T 
LINE HAREKAT Co. 

LBLE

15,20,25,30,35,40,50,70,100

Output End

Input End

Gear Ratio   25:1

110 N.m

2 Times of rated torque

650 N

900 N

94%

0.39 kgcm

<10arcmin

60dB(A),distance 1m

Rated Torque

Instant Stop Torque 

Technical Data :

Max Ratial Torque

Max Axial Torque

Full Load Efciency

Intetia

Backlash

Noise

Output End

Input End

Gear Ratio   25:1

40 N.m

2 Times of rated torque

240 N

450 N

94%

0.064 kgcm

<10arcmin

60dB(A),distance 1m

Rated Torque

Instant Stop Torque 

Technical Data :

Max Ratial Torque

Max Axial Torque

Full Load Efciency

Intetia

Backlash

Noise

13



284.7 
145 
MS 
150 
35 
130 

217 
145 
MS 
120 
24 
110 

25 
167.2 
90 
MS 
100 
19 
70 

Input hole depth 
Input guide 

C4 

cs 

122.2 
70 
M4 
62 
14 

50 

16 

Any Direction 

2.9 8 1.3 

11 
6,000 7,500 14,000 
5,000 3,225 12,000 

20,000 
.'.:,97% 

-10°C - 90°C 
Synthetic oil 

IP65 

< 62 .'.:. 62 .'.:. 68 .'.:. 70 

3,500 

145 100 70 
M6 
22 

84 0 ngth 
f'W- A Keyway length 

~ ~is -, Body length 
:ti - .0 Lock screw 

cJ5 "· Screw hole dia. 
~ C3 Input flange 

3,000 
3,500 
1-M5 

3,000 

Kg 

dB 

HR 

N-m 
rpm 
rpm 

arcmin 
N-m I arcmin 7 

N 840 
N 605 

N-m 

150 120 90 

3 a. 
E 

500 
580 

235 130 
136 
152 
136 
94 

39 
35 
42 
46 
25 

52 A 1 PCD Lock screw 

60 Model 150 120 90 60 

BS 

Unit 

3 
4 
5 
7 
10 

3-10 
3-10 
3-10 
3-10 
3-10 
3-10 
3-10 
3-10 
3-10 
3-10 
3-10 
3-10 
3-10 
3-10 
3-10 

Speed Ratio 

Max.output torque 
Rated input speed 
Max. input speed 
Backlash 
Trosional rigidity 
Max. radial force 
Max. axial force 
Service life 
Efficiency 
Operating temperature 
Lubrication 
Protection class 
Noise level 
Mounting position 
Weight 

Rated output torque 

Model NO. 

L 1 (Single Stage) 

3,4,5, 7, 10 
Satge 

Speed Ratio 

SE Series [L 1 Single Stage] 

Circular Flange Type Planetary Reducers 
LB

Helical Planetary Reducers

[Single& Double Stage]

Full Load efciency   95 %

3000 min-1

2 Times of rated torque

650 N

Synthetic grease lubrication

arbitrary

& 1 t ;3 arcmin

95 %

& 1 t ; 5 arcmin

20000  H

2400 N

3.7 Kg

2200 N

Rated input speed

Operating temperature 

Technical Data :

Maximum input speed

Lubrication

Installation 

Return clearance

Full load efciency

Return gap (economic type)

Life expectancy

Maximum allowable radial load

Weight

Allow maximum axial load

/ / / / oooo14   30/    50    3/4 -    5.5 -   70Maker size

Full Load efciency   95 %

3000 min-1

-25    ~    -25         + 90

6000 min-1

Synthetic grease lubrication

arbitrary

& 1 t ;3 arcmin

95 %

& 1 t ; 5 arcmin

20000  H

2400 N

3.7 Kg

2200 N

Rated input speed

Operating temperature 

Technical Data :

Maximum input speed

Lubrication

Installation 

Return clearance

Full load efciency

Return gap (economic type)

Life expectancy

Maximum allowable radial load

Weight

Allow maximum axial load

/ / / / oooo14   30/    50    3/4 -    5.5 -   70Maker size

0 0 0

3                   4                  5                 7                 9               10

Rate output torque 

Fault stop torque

Moment of inertia

Allow radial load

Allow axial load

18 Nm

80Nm

0.22Kgcm

430 N

310 N

27Nm

100Nm

0.17Kgcm

470N

360N

27Nm

100Nm

0.16Kgcm

510N

390N

75Nm

100Nm

0.14Kgcm

620N

510N

18Nm 18Nm

80Nm 80Nm

0.14Kgcm 0.14Kgcm

620N 640N

510N 530N

2222 22

15                16                 20               25                28               30

Rate output torque 

Fault stop torque

Moment of inertia

Allow radial load

Allow axial load

18 Nm

80Nm

0.14Kgcm

740 N

630 N

27Nm

100Nm

0.14Kgcm

750N

650N

27Nm

100Nm

0.13Kgcm

810N

720N

75Nm

100Nm

0.13Kgcm

870N

790N

18Nm 18Nm

100Nm 80Nm

0.13Kgcm 0.13Kgcm

910N 930N

830N 860N

2222 22

SE 60 Series

14



\ 
~ 

L2 (Double Stage) 

3,4,5, 7, 10 
Satge 

Speed Ratio 

SE Series [L2 Double Stage) 

Circular Flange Type Planetary Reducers 

Hill IE> 
~T 
LINE HAREKAT Co. 

Model NO. Speed Ratio Unit 60 90 120 150 Model 60 90 120 150 

15 35 130 210 500 
A1 PCD Lock screw 52 70 100 145 

20 35 142 285 530 
A2 Screw hole dia. MS M8 M12 

25 42 158 320 660 

30 42 152 308 

Rated output torque 35 N-m 42 

40 25 

50 25 156 

70 46 135 

100 25 94 

Max.output torque 15 - 100 N-m 3 times of rated o ~ 
Rated input speed 15 - 100 rpm 3,000 3,000 2,500 i \ 2,0~0 •-Mi 
Max. input speed 15 - 100 rpm 3,500 3,500 3.000 2,500 °"'*- 
Backlash 15 - 100 arcmin ~ 12 "' 70 145 145 
T rosional rigidity 15 - 100 N-m I arcmin 5 7 11 27 

Q) 
N 
<ii hole dia. M4 MS M8 M8 

Max. radial force 15 - 100 N 840 6,000 7,500 14,000 "O 62 100 120 150 c 
Max. axial force 15 - 100 N 605 5,000 3,225 12,000 w 

:5 C4 14 19 24 35 
Service life 15 - 100 HR 20,000 Q. 

E cs Input guide 50 70 110 130 
Efficiency 15 - 100 % ~95% 
Operating temperature 5 - 100 oc -10°c - 90°c 
Lubrication 15 - 100 Synthetic oil 
Protection class 15 - 100 IP65 
Noise level 15 - 100 dB < 65 < 65 < 70 < 71 
Mounting position 15 - 100 Any Direction 
Weight 15 - 100 Kg 1.6 5.3 10 21 

15,20,25,30,35,40,50,70,100

Helical Planetary Reducers

Full Load efciency   95 %

3000 min-1

-25    ~    + 90

6000 min-1

Synthetic grease lubrication

arbitrary

& 1 t ;3 arcmin

95 %

& 1 t ; 5 arcmin

20000  H

2400 N

3.7 Kg

2200 N

Rated input speed

Operating temperature 

Technical Data :

Maximum input speed

Lubrication

Installation 

Return clearance

Full load efciency

Return gap (economic type)

Life expectancy

Maximum allowable radial load

Weight

Allow maximum axial load

/ / / / oooo19   35/    70    3/4 -    6.5 -   90Maker size

0 0

Full Load efciency   95 %

3000 min-1

-25    ~    + 90

6000 min-1

Synthetic grease lubrication

arbitrary

& 1 t ;5 arcmin

95 %

& 1 t ; 7 arcmin

20000  H

2400 N

3.7 Kg

2200 N

Rated input speed

Operating temperature 

Technical Data :

Maximum input speed

Lubrication

Installation 

Return clearance

Full load efciency

Return gap (economic type)

Life expectancy

Maximum allowable radial load

Weight

Allow maximum axial load

/ / / / oooo19   35/    70    3/4 -    6.5 -   90Maker size

0 0

3                 4                  5                 7                10     

Rate output torque 

Fault stop torque

Moment of inertia

Allow radial load

Allow axial load

50 Nm

200Nm

1.2Kgcm

810 N

930 N

75Nm

250Nm

0.95Kgcm

890N

1100N

75Nm

250Nm

0.86Kgcm

960N

1200N

75Nm

250Nm

0.79Kgcm

1100N

1300N

50Nm

200Nm

0.75Kgcm

1200N

1600N

2 22 22

15              16                20                25               28               30     

Rate output torque 

Fault stop torque

Moment of inertia

Allow radial load

Allow axial load

50 Nm

200Nm

0.72Kgcm

1400 N

1900 N

75Nm

250Nm

0.74Kgcm

1400N

1900N

75Nm

250Nm

0.72Kgcm

1500N

2100N

75Nm

250Nm

0.71Kgcm

1600N

2200N

75Nm 50Nm

250Nm 200Nm

0.73Kgcm 0.70Kgcm

1700N 1700N

2200N 2200N

2 2 22 22

LB [Single& Double Stage]SE 90 Series

15



Model NO. Speed Ratio Unit 60 90 120 150 Model 60 ,t 120 150 
' 

3 39 130 235 500 A1 PCD Lock screw 52 70 100 145 
4 35 136 225 580 A2 Screw hole dia. MS M6 MS M12 

Rated output torque 5 N-m 42 152 256 660 A3 Output shaft dia. 16 22 32 40 
7 46 136 306 540 V) A4 Flange guide 40 60 80 130 Q) 

10 25 94 225 460 
N 

AS Key width 5 6 10 12 cii 
Max.output torque 3-10 N-m 3 times of rated output torque 'O A6 Heigh of shaft with key 18 24.5 35 43 c: w 
Rated input speed 3-10 rpm 3,000 3,000 2,500 2,000 '5 51.5 a. I no 
Max. input speed 3-10 rpm 3,500 '5 

0 
Backlash 3-10 arcmin 
Trosional rigidity 3-10 N-m/arcmin 7 
Max. radial force 3-10 N 840 
Max. axial force 3-10 N 605 
Service life 3-10 HR 
Efficiency 3-10 % 
Operating temperature 3-10 OC '5 C4 2 --f--35 

a. 
Lubrication 3-10 Synthetic oil E cs Input guide 70 110 130 
Protection class 3-10 IP65 • Noise level 3-10 dB <62 ~62 ~68 ~70 1; 

Mounting position 3-10 Any Direction 1/!A 12), 

Weight 3-10 Kg 1.3 2.9 8 16 

SE Series [L 1 Single Stage] 

Circular Flange Type Planetary Reducers 
L 1 (Single Stage) 

3,4,5, 7, 10 
Satge 

Speed Ratio 

Helical Planetary Reducers

Rate output torque 120N 

3000 min-1

-25    ~  +90

6000 min -1

Synthetic grease lubrication

arbitrary

& 1 t ;3 arcmin

95 %

& 1 t ; 5 arcmin

20000  H

2000 N

8 Kg

2500 N

Rated input speed

Operating temperature 

Technical Data :

Maximum input speed

Lubrication

Installation 

Return clearance

Full load efciency

Return gap (economic type)

Life expectancy

Permitted radial load

Weight

Allow  axial load

/ / / / oooo22   55/    110    8/4 -    9 -   145Maker size

00

Rate output torque 180N 

3000 min-1

-25    ~  +90

6000 min -1

Synthetic grease lubrication

arbitrary

& 1 t ;5 arcmin

95 %

& 1 t ; 7 arcmin

20000  H

2700 N

8 .9Kg

3700 N

Rated input speed

Operating temperature 

Technical Data :

Maximum input speed

Lubrication

Installation 

Return clearance

Full load efciency

Return gap (economic type)

Life expectancy

Permitted radial load

Weight

Allow  axial load

/ / / / oooo22   55/    110    8/4 -    9 -   145Maker size

00

LB [Single& Double Stage]SE 120 Series

16



Model NO. Speed Ratio Unit 60 90 120 150 Model 60 90 120 150 

15 35 130 210 
145 

20 35 142 285 
M12 

25 42 158 320 

30 42 152 308 
40 

Rated output torque 35 N-m 42 136 306 
130 

40 25 118 252 12 

50 25 156 320 43 
•••• d.42.1 

70 46 135 306 ::>4U a VU'+)Ul:::>IIClllletlll:jUI ,>U .Jl,,J U'1.J 92 

100 25 94 225 460 3 83 Guide thickness 7 10 13 15 0 
Max.output torque 15 - 100 N-m 3 times of rated output torque 84 Output shaft length 28 40 50 74 

Rated input speed 15 - 100 rpm 3,000 3,000 2,500 2,000 86 Keyway length 20 25 40 65 
Max. input speed 15 - 100 rpm 3,500 3,500 3.000 2,500 °"'*- 88 Bodylength 142.5 194.8 250.1 329.3 
Backlash 15 - 100 arcmin ~ 12 "' C1 P.C.D Lodi saew 70 90 145 145 
T rosional rigidity 15 - 100 N-m I arcmin 5 7 11 27 

Q) 
N 

C2 Saew hole dia. M4 MS M8 M8 <ii 
Max. radial force 15 - 100 N 840 6,000 7,500 14,000 "O 

C3 Input flange 62 100 120 150 c 
Max. axial force 15 - 100 N 605 5,000 3,225 12,000 w 

3 C4 Input hole depth 14 19 24 35 
Service life 15 - 100 HR 20,000 Q. 

E cs Input guide 50 70 110 130 
Efficiency 15 - 100 % ~95% 

Operating temperature 5 - 100 oc -10°c - 90°c 

Lubrication 15 - 100 Synthetic oil 

Protection class 15 - 100 IP65 

Noise level 15 - 100 dB < 65 < 65 < 70 < 71 

Mounting position 15 - 100 Any Direction 

Weight 15 - 100 Kg 1.6 5.3 10 21 

B8 
A6 

C2 

SE Series [L2 Double Stage) 

Circular Flange Type Planetary Reducers 

Satge 

Speed F 

LINE HAREKAT Co. 

15,20,25,30,35,40,50,70,100

LB

ALPHA Servo motor

ALPHA Servo motor

17



Model NO. Speed Ratio Unit 60 90 120 150 Model 60 90 120 150 

3 39 130 235 500 A1 PCD Lock screw 52 70 100 145 
4 35 136 225 580 A2 Screw hole dia. MS M6 MS M12 

Rated output torque 5 N-m 42 152 251 40 
7 46 136 301 130 
10 25 94 22! 

~ 

12 
Max.output torque 3-10 N-m 3 times of rated outt 43 
Rated input speed 3-10 rpm 3,000 3,000 92 
Max. input speed 3-10 rpm 3,500 3,500 3,0( 15 
Backlash 3-10 arcmin ~8 74 
Trosional rigidity 3-10 N-m/arcmin 7 11 27 48 86 Keyway length 20 25 40 65 
Max. radial force 3-10 N 840 6,000 7,500 14,000 Dmensions 88 Body length 122.2 167.2 217 284.7 
Max. axial force 3-10 N 605 5,000 3,225 12,000 v, C1 P.C.D Lock screw 70 90 145 145 ., 
Service life 3-10 HR 20,000 N C2 Screw hole dia. M4 MS MS MS i:i'i 
Efficiency 3-10 % ~97% 

.., 
C3 Input flange 62 100 120 150 c w 

Operating temperature 3-10 OC -10°C - 90°C 3 C4 Input hole depth 14 19 24 35 a. 
Lubrication 3-10 Synthetic oil E cs Input guide 50 70 110 130 
Protection class 3-10 IP65 

Noise level 3-10 dB <62 ~62 ~68 ~70 
Mounting position 3-10 Any Direction 

Weight 3-10 Kg 1.3 2.9 8 16 

PCD0C1 

88 

Satge 

Speed R 

SE Series [L 1 Single Stage] 

Circular Flange Type Planetary Reducers 

ALPHA Servo motor

ALPHA Servo motor

ALPHA Servo motor

18



Model NO. Speed Ratio Unit 60 90 150 
227 

15 35 130 
145 

20 35 142 
M12 

25 42 158 
40 

30 42 152 
130 Rated output torque 35 N-m 42 136 

40 25 118 12 

43 50 25 156 

70 46 135 -'UO ::>'IU a. VV'+IUl ,>I l(IH IQI ~U I 92 

100 25 94 225 460 3 83 Guide thickness 7 10 13 15 0 
Max.output torque 15 - 100 N-m 3 times of rated output torque 84 Output shaft length 28 40 50 74 

Rated input speed 15 - 100 rpm 3,000 3,000 2,500 2,000 86 Keyway length 20 25 40 65 
Max. input speed 15 - 100 rpm 3,500 3,500 3.000 2,500 °"'*- 88 Bodylength 142.5 194.8 250.1 329.3 
Backlash 15 - 100 arcmin < 12 "' C1 P.C.D Lodi saew 70 90 145 145 

15 - 100 N-m I arcmin 5 11 27 
Q) 

T rosional rigidity 7 N 
C2 Saew hole dia. M4 M5 MS MS <ii 

Max. radial force 15 - 100 N 840 6,000 7,500 14,000 "O 
C3 Input flange 62 100 120 150 c 

Max. axial force 15 - 100 N 605 5,000 3,225 12,000 w 
3 C4 Input hole depth 14 19 24 35 

Service life 15 - 100 HR 20,000 Q. 
E C5 Input guide 50 70 110 130 

Efficiency 15 - 100 % ~95% 

Operating temperature 5 - 100 oc -10°c - 90°c 

Lubrication 15 - 100 Synthetic oil 

Protection class 15 - 100 IP65 

Noise level 15 - 100 dB < 65 < 65 < 70 < 71 

Mounting position 15 - 100 Any Direction 

Weight 15 - 100 Kg 1.6 5.3 10 21 

88 
82 A6 

83 

C2 

Clrc; 
SE Series [L2 Double Stage) 

Satge 

Speed 

LINE HAREKAT Co. 

15,20,25,30,35,40,50,70,100

LB

ALPHA Servo motor

ALPHA Servo motor

19



Model NO. Speed Ratio Unit 60 90 120 150 Model 60 90 120 150 

3 39 130 145 
4 35 136 9 M12 

1-1 Q'r Rated output torque 5 N-m 42 152 40 
7 46 136 130 

10 25 94 12 
Max.output torque 3-10 N-m 3 times of rat T•c~ &7.36 43 
Rated input speed 3- 10 rpm 3,000 3,000 92 
Max. input speed 3-10 rpm 3,500 3,500 3,000 2,500 63 Guide thickness 7 10 13 15 
Backlash 3- 10 arcmin ~8 64 Output shaft length 28 40 50 74 
Trosional rigidity 3- 10 N-m/arcmin 7 11 27 48 66 Keyway length 20 25 40 65 
Max. radial force 3- 10 N 840 6,000 7,500 14,000 - 68 Body length 122.2 167.2 217 284.7 
Max. axial force 3- 10 N 605 5,000 3,225 12,000 V> C1 P.C.D Lock screw 70 90 145 145 

Q) 

Service life 3-10 HR 20,000 N C2 Saew hole dia. M4 MS MS MS en 
Efficiency 3-10 % ~97% " C3 Input flange 62 100 120 150 c w 
Operating temperature 3-10 OC -10°C-9o0c 3 C4 Input hole depth 14 19 24 35 a. 
Lubrication 3-10 Synthetic oil .E cs Input guide 50 70 110 130 
Protection class 3-10 IP65 

Noise level 3- 10 dB < 62 ~62 ~68 ~70 
Mounting position 3-10 Any Direction 

Weight 3- 10 Kg 1.3 2.9 8 16 

PCDoC1 

Satge 

Speed I 

SE Series [L 1 Single Stage] 

Circular Flange Type Planetary Reducers 

ALPHA Servo motor

ALPHA Servo motor

ALPHA Servo motor

20



Model NO. Speed Ratio Unit 60 90 12( 150 

15 35 130 21( -. 145 
20 35 142 28! 

M12 
25 42 158 32( 

30 42 152 30! 
40 

-,,.s;ma..1136 130 Rated output torque 35 N-m 42 136 30E 

40 25 118 252 530 (/) A::> l\ey WIOtn o 0 ·,u 12 
"O 

A6 Heigh of shaft with key 18 24.5 35 43 50 25 156 320 660 c w 
70 46 135 306 540 :5 82 Output shaft length 36 51.5 65.3 92 0. 

100 25 94 225 460 :5 83 Guide thickness 7 10 13 15 0 
Max.output torque 15 - 100 N-m 3 times of rated output torque 84 Output shaft length 28 40 50 74 

Rated input speed 15 - 100 rpm 3,000 3,000 2,500 2,000 86 Keyway length 20 25 40 65 
Max. input speed 15 - 100 rpm 3,500 3,500 3.000 2,500 °"'*- 88 Bodylength 142.5 194.8 250.1 329.3 
Backlash 15 - 100 arcmin ~ 12 "' C1 P.C.D Lodi saew 70 90 145 145 
T rosional rigidity 15 - 100 N-m I arcmin 5 7 11 27 

Q) 
N 

C2 Saew hole dia. M4 M5 M8 M8 <ii 
Max. radial force 15 - 100 N 840 6,000 7,500 14,000 "O 

C3 Input flange 62 100 120 150 c 
Max. axial force 15 - 100 N 605 5,000 3,225 12,000 w 

:5 C4 Input hole depth 14 19 24 35 
Service life 15 - 100 HR 20,000 0. 

E C5 Input guide 50 70 110 130 
Efficiency 15 - 100 % ~95% 

Operating temperature 5 - 100 oc -10°c - 90°c 

Lubrication 15 - 100 Synthetic oil 

Protection class 15 - 100 IP65 

Noise level 15 - 100 dB < 65 < 65 < 70 < 71 

Mounting position 15 - 100 Any Direction 

Weight 15 - 100 Kg 1.6 5.3 10 21 

B8 
A6 

C2 

SE Series [L2 Double Stage) 

Circular Flanae Tvoe Planetarv Reducers 
031 ,-...-~~~ro=s~~~~---, 

K-K 

Satge 

Speed F 

LINE HAREKAT Co. 

15,20,25,30,35,40,50,70,100

LBALPHA Servo motors

ALPHA Servo motors

21



AC 3PH:380V(-30%)-400V(+15%); 

23jlUTA3"1 

•With advanced open loop vector control technology, and excellent voltage and current 
control technology; 

•Starting Torque O.SHz/150%,speed ratio 1:100,dynamic response<20ms,speed 
precision±0.2%; 

•Wide voltage range design.AC 3PH:380V(-30%)-400V(+15%); 
•Build-in Filter.with high EMC performance.which can work in the place with 

electromagnetic interference; 
•Items below 22KW with build-in braking system; 
•Support DC BUS mode and DC power supply; 
•With various braking modes.such as dynamic braking.magnetic flux braking, and DC 

brakinq.it can stop at once; 
•No stop with instant power failure.which meets various requirement of the customers; 
•Designed air flue.support hanging.floor standing.flange installation modes. 

FEATURES 

H300 SERIES HIGH PERFORMANCE 
VECTORVFD 

ALPHA Inverter

مدلهاي زیر 22 کیلووات با سیستم ترمز داخلی تامین کننده حالت باس       و منبع تغذیه 

سیستم پیشرفته                                   ، کنترل پیشرفته و حرفه اي ولتاژ و جریان

شروع گشتاور 150% در فرکانس 0/5 هرتز، نسبت به سرعت 1:100، پاسخدهی پویا کمتر از 20 میلی ثانیه ، دقت تنظیم سرعت

 در حدود%0.2

 طراحی وسیع در ولتاژ، سه فاز، 

انواع حالت ترمز، مثل ترمز داینامیک، مغناطیسی، ترمز       که می تواند در لحظه متوقف کند.

بدون توقف در قطعی لحظه اي برق، که براي مشتریان بسیار حائز اهمیت است.

سیستم تهویه براي نصب به صورت آویزانی، قرارگیري روي کف و نصب از فلنج طراحی شده است.

توضیحات

DCDC

DC

+-

Control Vector

22



.ALPl-lt1 

23



Spindle motor

O O : ER 32-    3.175-     20

24



~l 
MOTION 

25



HM90 

Type Frequency Speed Power Voltage Absorbtion Power Fae. Weight 
Hz Rpm Kw v A Cos, Kg 

50 3000 0.65 220-380 3.7-1.9 0.72 
100 6000 1.5 220-380 6.4 - 3.6 0.75 

HM90-10 200 12000 3.5 380 7.7 0.80 HM90-10 
300 18000 4.0 380 9.0 0.85 
300 18000 4.5 380 9.6 0.85 
400 24000 4.5 380 9.6 0.85 
50 3000 1.1 220-380 4.9-2.9 0.72 

100 6000 2.2 220-380 9.5-5.5 0.75 

HM90-14 200 12000 4.5 380 9.5 0.80 HM90-14 
300 18000 5.5 380 12.0 0.85 
300 18000 6.0 380 12.4 0.85 
400 24000 6.0 380 12.4 0.85 
50 3000 1.5 220-380 6.3-3.5 0.72 

100 6000 3.0 380 7.2 0.75 

HM90-17 200 6000 4.0 380 9.0 0.80 HM90-17 
200 12000 5.5 380 12.0 0.85 
300 18000 7.0 380 14.5 0.85 
400 24000 7.0 380 14.5 0.85 

hertz®spindle Motors~ 
SPINDLE MOTORS 

26



~at ff( 12 fo.! 
1l. 12 Fi. 

Code Module B AO Al D Noof A 0dl i!lD E Dl 11 (15d2 kN KG 
Teeth Holes 

CSTM01510·DIN8 1.5 999.03 212 17 17 15.5 62.44 124.88 8 7 6 9.5 7 29 941.00 5.7 1.5 3.62 1.9 
CSTM02010·DIN8 2 1005.31 160 25 24 22 62.83 125.66 8 8 7 11 7 31.3 942.70 5.7 2 7.07 4.1 
CSTM02020·DIN8 2 2010.62 320 25 24 22 62.83 125.66 16 8 7 11 7 31.3 1948.00 5.7 2 7.15 8.1 
CSTM03010·DIN8 3 1017.88 108 30 29 26 63.62 127.23 8 9 10 15 9 34.4 949.10 7.7 2 12.61 5.9 
CSTM03020·DIN8 3 2035.75 216 30 29 26 63.62 127.23 16 9 10 15 9 34.4 1967.00 7.7 2 12.80 11.9 
CSTM04010·DIN8 4 1005.31 80 40 39 35 62.83 125.66 8 12 10 15 9 37.5 930.30 7.7 2 22.21 10.5 
CSTM04020·DIN8 4 2010.62 160 40 39 35 62.83 125.66 16 12 10 15 9 37.5 1935.60 7.7 2 22.63 21.0 

~ Matcnal 5'I 5C 
~ HArdrKMi.,: HHC: lCJ-lr 

~at UI 12 !.! 1l. 12 Fta L2 B AO Al D Noof A i!ldl eo E Dl 11 i!ld2 KG Code Module Teeth Holes kN 

CHTMH01510·DIN10 1.5 1000 6.00 200 17 17 15.5 62.5 125 8 7 6 9.5 7 31.7 936.6 5.7 1.5 4.57 2.1 
CHTMH02010·DIN10 2 1000 8.50 150 24 24 22 62.5 125 8 8 7 11 7 31.7 936.6 5.7 2 8.56 4.1 
CHTMH02020·DIN10 2 2000 8.50 300 24 24 22 62.5 125 16 8 7 11 7 31.7 1936.6 5.7 2 8.66 8.2 

~ Material StlSC 
~Jlj Right Hand /\nglP ·1!:t:=rl14)11 

~ HanJness: HRC:'iO··'iS" 

~ Surtaces: Sand-blasted. 

~fn / nim~n\ion: mm 

l2 

Ml 
MOTION 

Straight Milled Racks

Helical Hardened Racks

Material S45C

Hardness: HRC 50~55
Surfaces: Sand-blasted.

جنس

سختی

سطح

Right Hand Angle 19 31 42" زاویه

Material S45C

Hardness: HRC 10~12

جنس

سختی

Helical & Straight Racks

27



Stepper >,, 

The Diameter of the shaft the 57HS22 is 8 mm, and those of other are 6.35 mm 

Match Drives 
Model Match Drives Model Match Drives 
57HS04 57HS13 
57HS09 

EM503 / EM705 / DM556 
57HS22 

EM503 / EM705 / DM556 

General Specifications Selection Table 
Angie Accuracy t 5%(full step, no load) Current/ Holding 
Temperature Rise 80°C Max phase NEMA Model Step # of Conection phase Torque Length Weight Match Drives 

-10°c - -sosc Size Angle Leads (A) (Nm) L(mm) (Kg) 
Ambient Temperature 
lnsulatuion Resistance 100M n min. 500VDC 57HS04 1.8 6 Series 2.0 0.4 41 0.45 EM503/DM556 

Dielectric Strength 500VAC for one minute Unipolar 2.8 0.28 

Shaft Radial Play 0.06 Max. (450g-load) Parellel 4.2 1.3 

Shaft Axial Play 0.08 Max. (450g-load) 57HS09 1.8 8 Series 2.1 1.3 54 0.6 EM503/Em 705/DM556 
Unipolar 2.8 0.9 

2 23 Parellel 4.0 1.8 
57HS13 1.8 8 Series 2.0 1.8 76 1.0 EM5031Em 705/DM556 

Unipolar 2.8 1.3 
Parellel 5.6 2.2 

57HS22 1.8 8 Series 2.8 2.2 81 1.15 EM503/Em 705/DM556 
Unipolar 4.0 1.5 

BRN au: OflG WKT 

:38 m 
I 

.us..l'.ou·· !J 

l 
r 

11 

L6 I 

Jl,lj),S l«lO.S r 
Y'fl IUC M.U 

57HSxx Series 

28



Stepper Drive 

Control Power Matching Connector 
Model Phase Series Type Voltage (v) Current (A) Motors Configuration Type 

AC DC Peak (NEMA) 
M542 2 M Step & Dir 24 - 50 1.0 -4.2 17,23 DIP switch x 
M752 2 M Step & Dir 20 - 70 1.26 - 5.2 23,34 DIP switch x 
M860 2 M Step & Dir 24 - 80 2.4 - 7.2 17,23,34 DIP switch x 
M880A 2 M Step & Dir 24 - 80 2.8 - 7.8 23,34 DIP switch x 
MA860H 2 M Step & Dir 36 -80 50 • 110 2.4 • 7.2 34, 42 DIP switch x 

The shaft of the 66HS45 is round, no flat. 

Match Drives 
Model Match Drives Model Match Drives 
86HS35 86HS85/86HS120 
86HS45/86HS65 

EM705 / EM806 / DM1182 EM705 / EM806 / DM1182 

General Specifications Selection Table 
Angie Accuracy t 5%(full step, no load) Current/ Holding 
Temperature Rise 80°C Max phase NEMA Model Step # of Conection phase Torque Length Weight Match Drives 

-1 o0c - -sosc Size Angle Leads (A) (Nm) L (mm) (Kg) 
Ambient Temperature 
lnsulatuion Resistance 100M n min. 500VDC Parellel 4.0 3.5 

Dielectric Strength 500VAC for one minute 86HS35 1.8 6 Series 2.0 3.5 65 1.7 EM705/EM806/DM870 

Shaft Radial Play 0.06 Max. (450g-load) Unipolar 2.8 2.5 

Shaft Axial Play 0.08 Max. (450g-load) Parellel 6.0 4.5 
86HS45 1.8 8 Series 3.0 4.5 80 2.3 EM705/EM806/DM870IDM1182 

General Specifications Unipolar 4.2 3.2 
Model T KEY D 2 34 Parellel 6.1 6.5 
86HS35 I 9.5 86HS65 1.8 8 Series 3.05 6.5 96 2.3 EM806/DM870/DM11821DM2282 

86HS45 12.7 Unipolar 4.3 4.6 
86HS65, 86HS85 14.7 5•5•25 12.7 Parellel 6.8 8.5 
86HS120 17.875 5•5•25 15.875 86HS85 1.8 8 Series 3.4 8.5 118 3.8 EM806/DM870/DM11821DM2282 

Unipolar 4.9 6.0 . Parellel 6.0 12 

$ ~m ~- 
11.1., ., v 86HS120 1.8 8 Series 3.0 12 156 5.3 EM806/DM870/DM11821DM2282 :. - Unipolar 4.2 8.4 

~98.4 
0 

1173-0.046 
Unit: mm tlnc.halS ,mm 

RED~ me 
::~ ~M M 

WHT ORG 8RN GRN 

0 
110-0.027 

86HS:xx Series 

IJ'j Leadshine 

••• 

29



33 
34 
39 

59 
64 
67 

15 
20 
25 

H w Rail Size Rail Cover > 

FORM FITTING PVC 
INTERNAL SUPPORTS 

SEPARATE 
MOUNTING KITS 
AVAILABLE 

LINEAR RAIL 

LINEAR 
RAIL 
BEARING 

COMPRESSED 
LENGTH 

STROKE 
LENGTH 

EXTENDED LENGTH 
SHIM PLATE MAY BE 
REQUIRED FOR 
SOME COVERS COVER WIDTH W 
THAT EXCEED 
BEARING HEIGHT ~ 

*SHIM •• / 

'"'c;e'.'; ~~· "\ ~· 

Size no. A[mm] B[mm] 

25 25 35 
30 30 40 
35 35 45 
45 45 55 
55 55 65 

Ball Screw Cover > 
~ 

Axis Cover > 
Size no. A[mm] B[mm] C[mm] P[mm] 

110 150 50 110 20 
120 160 50 120 20 
200 240 67 200 20 
320 360 100 320 20 
500 540 100 500 20 

Standard Cover Width & Height 

I 
B 

]_ _ 

LINE HAREKAT Co. 
LI IC> 



CD 

Support Nut > 

Ball Transfer Units > 

LINE HAREKAT Co. 
LI IC> 

D 
01 

I 
Part No. Ball Size D 01 h H Part No. Match Nuts D B H h E L C1 C2 p x w y 

[mm) [mm] [mm] [mm] [mm) 

BSG 16H 1605/1610 28 52 40 20 12 40 8 24 40 M5 38 M6 
SP 128 12.7 22 5.5 16.5 BSG 1616 1616 32 54 38 19 8 40 8 24 44 M5 42 M6 
SP 158 15.8 24 31.5 10 21 BSG20H 2005/2010 36 62 44 22 12 40 8 24 48 M6 47 M6 

SP22B 22.2 36 45 9.8 30.5 BSG2020 2020 39 64 46 23 11 40 8 24 52 M6 50 M6 

SP25B 25.4 38 45 13.5 31 BSG25H 2505 /2510 40 66 48 24 13 40 8 24 50 M6 51 M6 
BSG2525 2525 47 68 56 28 9 40 8 24 50 M6 60 M6 

SP30B 30 45 55 14 36.8 
BSG32H 3205 / 3210 50 86 62 31 17 40 8 24 66 MS 65 M6 

SP45B 44.4 62 75 19 53.5 BSG40H 4005 / 4010 63 100 70 35 19 40 8 24 80 MS 78 M6 
SP60B 60 100 117 48 77 BSG50H 5010 75 116 85 42.5 22 46 10 26 92 MS 93 M6 

31



RM Series 

Part No. dw d 0 c 

RM 1 zz 4.76 19,56 7.87 7,93 
RM2ll 9.53 30,73 11, 1 12,70 
RM3ll 12 45,72 15,88 19,05 Is 

RM4ll 15 59,94 19,05 25,40 
-d 0 

RV Series 

Part No. dw d 0 c 

RV 20/7-10 10 7 22 11 
RV 20/8-10 10 8 30 14 
RV 202/15.38-10 10 15 38 17 
RV 202/15.40-10 10 15 40 18 
RV 202/15.41-20 20 15 41 20 
RV 203/17 20 17 58 25 

LFR Series 

Part No. dw d 0 c c 
LFR 50/5-4 KOO 5 5 16 8 H LFR 50/5-6 NPP 6 5 17 7 
LFR 50/8-6 NPP 6 8 24 11 
R 8.85 2RS 6 8 24,8 17 
LFR 5200-8 KOO 8 10 32 14 
LFR 5201-10 NPP 10 12 35 15,9 
LFR 5201-12 NPP 12 12 35 15,9 
LFR 5201-14 NPP 14 12 39,9 18 0 
LFR 5204-16 NPP 16 20 52 20,6 
LFR 5206-20 NPP 20 25 72 23,8 
LFR 5301-10 NPP 10 12 42 19 
LFR 5301-20 NPP 20 12 42 19 
LFR 5302-10 NPP 10 15 47 19 

32



... N I: .., .., ~ .., 

Trapezoidal nut type FXN - Flanged bronze 
Material: EN 1982 Cu Su12-C CC483K -·- From Tr 24x5 (6 holes) Untl Tr 22x5 (4 holes) 

Nut Stock no. Nut Stock no. Diameter Thread d1 d2 d2 d2 d3 d4 d5 p L s no. screw Fastening Wt. At 
RIGHT LEFT Xlead Starts mm mm mm mm mm mm mm mm mm mm holes screw Kg/each mm2(1) 

(class 8.8) 
FXN 10AR FXN 10AL Tr 10x4 18 26 26 26 37 4.5 7.5 4.2 22 8 4 M4 0.088 294 
FXN 12AR FXN 12AL Tr 12x3 1 18 26 26 26 37 4.5 7.5 4.2 22 8 4 M4 0.082 362 
FXN 10 BR Tr 12x6 (P3) 2 18 26 26 26 37 4.5 7.5 4.2 22 8 4 M4 0.082 362 
FXN 10AR FXN 14AL Tr 14x4 20 30 30 30 42 5.5 9.5 5.2 25 10 4 MS 0.123 470 
FXN 16AR FXN 16AL Tr 16x4 22 32 32 32 45 5.5 9.5 5.2 30 10 4 MS 0.149 660 
FXN 16 BR Tr 16x8 (P4) 2 22 32 32 32 45 5.5 9.5 5.2 30 10 4 MS 0.149 660 
FXN 18AR FXN 18AL Tr 18x4 25 35 35 35 48 5.5 9.5 5.2 35 10 4 MS 0.188 880 
FXN 20AR FXN 20AL Tr 20x4 1 30 40 40 40 52 5.5 9.5 5.2 40 10 4 MS 0.267 1130 
FXN 20 BR Tr 20x8 (P4) 2 30 40 40 40 52 5.5 9.5 5.2 40 10 4 MS 0.267 1130 
FXN 20 DR Tr 20x20 (PS) 4 30 40 40 40 52 5.5 9.5 5.2 40 10 4 MS 0.270 1100 
FXN 22AR FXN 22AL Tr 22x5 30 40 40 40 52 5.5 9.5 5.2 40 10 4 MS 0.247 1225 
FXN 24AR FXN 24AL Tr 24x5 35 48 48 48 62 6.5 11 6.5 45 12 6 M6 0.408 1520 
FXN 25AR FXN 25AL Tr 25x5 35 48 48 48 62 6.5 11 6.5 45 12 6 M6 0.393 1590 
FXN 25 BR Tr 25x10 (PS) 2 35 48 48 48 62 6.5 11 6.5 45 12 6 M6 0.393 1590 
FXN 25 ER Tr 25x25 (PS) 5 35 48 48 48 62 6.5 11 6.5 45 12 6 M6 0.393 1590 
FXN 26AR FXN 26AL Tr 26x5 35 48 48 48 62 6.5 11 6.5 45 12 6 M6 0.378 1660 
FXN 28AR FXN 28AL Tr 28x5 40 53 53 53 68 6.5 11 6.5 50 12 6 M6 0.532 2000 
FXN 28 BR Tr 28x10 (PS) 2 40 53 53 53 68 6.5 11 6.5 50 12 6 M6 0.532 2000 
FXN 30AR FXN 30AL Tr 30x6 1 40 53 53 53 68 6.5 11 6.5 50 12 6 M6 0.497 2120 
FXN 30 BR Tr 30x12 (P6) 2 40 53 53 53 68 6.5 11 6.5 50 12 6 M6 0.497 2120 
FXN 30 FR Tr 30x30 (PS) 6 40 53 53 53 68 6.5 11 6.5 50 12 6 M6 0.492 2590 
FXN 32AR FXN 32AL Tr 32x6 40 53 53 53 68 6.5 11 6.5 50 12 6 M6 0.455 2277 
FXN 35AR FXN 35AL Tr 35x6 50 63 63 63 78 8.5 14 8.5 60 15 6 MS 0.883 3015 
FXN 36AR FXN 36AL Tr 36x6 50 63 63 63 78 8.5 14 8.5 60 15 6 MS 0.854 3110 
FXN40AR FXN 40AL Tr40X7 55 68 68 68 84 8.5 14 8.5 65 15 6 MS 1.066 3727 
FXN 40 BR Tr 40x14 (P7) 2 55 68 68 68 84 8.5 14 8.5 65 15 6 MS 1.066 3727 
FXN 40 ER Tr 40x40 (PS) 5 55 68 68 68 84 8.5 14 8.5 65 15 6 MS 1.075 3675 
FXN 44AR FXN 44AL Tr 44x7 55 72 72 72 90 8.5 14 8.5 65 15 6 MS 1.029 4135 
FXN 45AR FXN 45AL Tr45x8 55 72 72 72 90 8.5 14 8.5 65 15 6 MS 0.999 4186 
FXN SOAR FXN 50AL Tr 50x8 65 80 80 80 100 10.5 17 10.5 80 20 6 M10 1.749 5780 
FXN 55AR Tr 55x9 65 80 80 80 100 10.5 17 10.5 80 20 6 M10 1.475 6345 
FXN 60AR FXN 60AL Tr 60x9 75 95 95 95 120 12.5 19 12.5 100 25 6 M12 2.927 8718 

888 
Trapezoidal screw type KQX - Steel C15 1.1141 

Stock no. for screw Stock no. for screw Diameter Thread Lead accuracy Straightness Weight 
RIGHT LEFT Xlead Starts µm/300mm mm/mm kg/mt 

KQX 10 JR ... KQX10JL ... Tr 10x4 (P2) 2 200 0.7 / 1000 0.48 
KQX 12 BR ... KQX 12 BL ... Tr 12x6 (P3) 2 200 0.7 / 1000 0.65 
KQX 14 BR ... KQX 14 BL ... Tr 14x6 (P3) 2 200 0.7 / 1000 0.93 
KQX 16 BR ... KQX16BL ... Tr 16x8 (P4) 2 200 0.7/1500 1.17 
KQX 18 BR ... KQX18BL ... Tr 18x8 (P4) 2 200 0.7 / 1500 1.53 
KQX 20 BR ... KQX 20 BL ... Tr 20x8 (P4) 2 200 0.6 / 2000 1.94 
KQX20D R ... KQX20 D L ... Tr 20x20 (PS) 4 200 0.6 / 2000 1.84 
KQX 22 BR ... KQX 22 BL ... Tr 22x10 (PS) 2 200 0.6 / 2000 2.29 
KQX 24 BR ... KQX 24 BL ... Tr 24x10 (PS) 2 200 0.4 / 2000 2.78 
KQX25 BR ... KQX25 BL ... Tr 25x10 (PS) 2 200 0.4 / 2000 3.05 
KQX 25 ER ... KQX 25 EL ... Tr 25x25 (PS) 5 200 0.4 / 2000 3.05 
KQX 26 BR ... KQX 26 BL ... Tr 26x10 (PS) 2 200 0.4 / 2000 3.33 
KQX 28 BR ... KQX 28 BL ... Tr 28x10 (PS) 2 200 0.4 / 2000 3.92 
KQX 30 BR ... KQX 30 BL ... Tr 30x12 (P6) 2 200 0.4 / 3000 4.38 
KQX30F R ... KQX 30 FL ... Tr 30x30 (PS) 6 200 0.4 / 3000 4.57 
KQX32 BR ... KQX 32 BL ... Tr 32x12 (P6) 2 200 0.4 / 3000 5.06 
KQX 36 BR ... KQX 36 BL ... Tr 36x12 (P6) 2 200 0.3 / 3000 6.56 
KQX40 BR ... KQX40 BL ... Tr 40x14 (P7) 2 200 0.3 / 3000 8.03 
KQX40 ER ... KQX40 EL ... Tr 40x40 (PS) 5 200 0.3 / 3000 7.90 

__..e._ 
chamfer 1x45° 

~CONTI® 

33



BK Series 

H)K~lh'I. 

~ 
CYC800E on 

l-¢:2M.....T'IN ----· r:---t' 11-~' 

~---~' ' 

C, Ct 
l• 

BK 10-40 
Model d1 L L, L2 L3 B H b!0.02 h!0.02 B, H, E p c, C2 d2 x y z Collar Size oT Mess(g) 
No. ~ Ls 
FK6 6 23 5 24 4 52 32 26 17 25 26 38 11.5 6.6 11 6 5 5 12 230 
FK8 8 23 7 26 4 52 32 26 17 25 26 38 11.5 6.6 11 6 5.5 7.5 14 230 
FK10 10 25 5 29 5 60 39 30 22 34 32.5 15 46 13 6 5.5 6.6 10.8 5 5 5 16 360 
FK12 12 25 5 29 5 60 43 30 25 34 35 18 46 13 6 5.5 6.6 10.8 6 5 5 19 390 
FK15 15 27 6 32 6 70 48 35 28 40 38 18 54 15 6 5.5 6.6 10.8 6 6 6 22 530 
FK17 17 35 9 44 7 86 64 43 39 50 55 28 68 19 8 6.6 9 14 8.5 7 7 24 1270 
FK20 20 35 8 43 8 88 60 44 34 52 50 22 70 19 8 6.6 9 14 8.5 8 8 30 1650 
FK25 25 42 12 54 9 106 80 53 48 64 70 33 85 22 10 9 11 17.5 11 9 9 35 2310 
FK30 30 45 14 61 9 128 89 64 51 76 78 33 102 23 11 11 14 20 13 9 9 40 3330 
FK35 35 50 14 67 12 140 96 70 52 88 79 35 114 26 12 11 14 20 13 12 12 50 4380 
FK40 40 61 18 76 15 160 110 80 60 100 90 37 130 33 14 14 18 26 17.5 15 15 50 6670 

BF Series 

.... - .... 
OYCIOAEOflZ 1:· ,-.. OM.l TMI ~--- t ; --, 

elm 
BF 10-40 

Model d1 L B H bro.02 hro.02 B1 H1 E p d2 x y z Mess (g) Bearing Snap Ring 
BF6/8 6 14 52 32 26 17 25 26 38 6.6 11 12 120 60622 C6 
BF10 8 20 60 39 30 22 34 32.5 15 46 5.5 6.6 10.8 5 260 60822 ca 
BF12 10 20 60 43 30 25 34 35 18 46 5.5 6.6 10.8 6.5 270 600022 C10 
BF15 15 20 70 48 35 28 40 38 18 54 5.5 6.6 10.8 6.5 310 600222 C15 
BF17 17 23 86 64 43 39 50 55 28 68 6.6 9 14 8.5 680 620322 C17 
BF20 20 26 88 60 44 34 52 50 22 70 6.6 9 14 8.8 710 600422 C20 
BF25 25 30 106 80 53 48 64 70 33 85 9 11 17.5 11 1340 620522 C25 
BF30 30 32 128 89 64 51 76 78 33 102 11 14 20 13 1880 620622 C30 
BF35 35 32 140 96 70 52 88 79 35 114 11 14 20 13 2080 620722 C35 
BF40 40 37 160 110 80 60 100 90 37 130 14 18 26 17.5 3100 620822 C40 

6

10

15

20

30

40

BK

BK

BK

BK

BK

BK

8BK

12BK

17BK

25BK

35BK

34



FF6-8 

Model d1 L H F D A PCD B x y z Mess (g) Bearing Snap Ring 
FF6-8 6 10 6 4 22 36 28 28 3.4 6.5 3 30 606ZZ C6 
FF10 8 12 7 5 28 43 35 35 3.4 6.5 4 60 608ZZ ca 
FF12 10 15 7 8 34 52 42 42 4.5 8 4 100 6000ZZ C10 
FF15 15 17 9 8 40 63 50 52 5.5 9.5 5.5 140 6002ZZ C15 
FF17 17 20 11 9 50 77 62 61 6.5 11 6.5 290 6203ZZ C17 
FF20 20 20 11 9 57 85 70 68 6.6 11 6.5 380 6204ZZ C20 
FF25 25 24 14 10 63 95 80 79 9 14 8.5 590 6205ZZ C25 
FF30 30 27 18 9 75 117 95 93 11 17.5 11 930 6206ZZ C30 

FK Series 

E 

ffiJJ +z:~: .'.}::{...~---1 ~ 
\;[~ 

ll f;! ···1rrr·' " .... 

F H l1 t, 
l 

[Howto.-A) (Howto.-BJ (-IO-A) (-IO-B) 

FK4-8 FK 10-30 
Model d1 L H F E D PCD oB How to install A How to install B x y z Collar Size oT Mess(g) 
No. L1 T1 L2 T2 L. Ls 
FK4 4 15 6 9 22 18 24 25 5.5 2 6.5 3 3.4 6 4 3.5 3.5 10 40 
FK5 5 16.5 6 10.5 24 20 26 26 6.5 3.5 6 3 3.4 6.5 4 4.5 4.5 11 50 
FK6 6 20 7 13 29 22 28 28 5.5 3.5 8.5 4.5 3.4 6.5 4 7 5 12 65 
FK8 8 23 9 14 33.5 28 35 35 7 4 10 5 3.4 6.5 4 7.5 5.5 14 125 
FK10 10 27 10 17 29.5 34 42 42 7.5 5 8.5 6 4.5 8 4 5.5 5.5 16 200 
FK12 12 27 10 17 29.5 36 44 44 7.5 5 8.5 6 4.5 8 4 5.5 5.5 19 225 
FK15 15 32 15 17 36 40 50 52 10 6 12 8 5.5 9.5 6 10 10 22 340 
FK17 17 45 22 23 46 50 62 61 10 9 13 12 6.6 11 10 9 9 24 770 
FK20 20 52 22 30 50 57 70 68 8 10 12 14 6.6 11 10 11 11 30 1065 
FK25 25 57 27 30 60 63 80 79 13 10 20 17 9 15 13 15 15 35 1465 
FK30 30 62 30 32 61 75 95 93 11 12 17 18 11 17.5 15 9 9 40 2300 

FF Series ,-o, 

@1111, Sung-ii 

35



Product Code. Dimension Bending Pitch Weight Product Code. Dimension Bending Pitch Weight 
A B c D RadiusR Kg A B c D Radius R Kg 

CK20 Y 025 R040 20 25 26 37 40 33 0.40 CK30A040R 30 40 47 62 52 1.36 
CK20 Y 040 R040 20 40 26 52 40 33 0.45 CK30A050R 30 50 47 72 50, 75, 52 1.46 
CK20 Y 050 R040 20 50 26 62 40 33 0.50 CK30A060R 30 60 47 82 100, 150 52 1.56 
CK20 Y 060 R040 20 60 26 72 40 33 0.55 CK30A080R 30 80 47 102 52 1.47 

CK30A 100R 30100 47 122 52 1.84 

Product Code. Dimension Bending Pitch Weight Product Code. Dimension Bending Pitch Weight 
A B c D RadiusR Kg A B c D Radius R Kg 

CK20 A 025 R040 20 25 26 37 40 33 0.40 CK25A040R 25 40 42 62 42 1.26 
CK24 B 060 R040 24 60 32 74 40 43.5 0.60 CK25A050R 25 50 42 72 40, 75, 42 1.36 

CK25A060R 25 60 42 82 100, 125 42 1.46 
CK25A080R 25 80 42 102 42 1.65 
CK25A 100R 25100 42 122 42 1.86 

Product Code. Dimension Bending Pitch Weight Product Code. Dimension Bending Pitch Weight 
A B c D RadiusR Kg A B c D Radius R Kg 

CK15A015 R025 15 15 20 23 25 25 0.23 CK24A025R 24 25 32 39 43.5 0.45 
CK15 F 020 R035 15 20 20 29 35 25 0.27 CK24A040R 24 40 32 54 40, 75, 43.5 0.50 
CK15 F 030 R035 15 30 20 39 35 25 0.30 CK24A050R 24 50 32 64 100 43.5 0.55 

CK24A060R 24 60 32 74 43.5 0.60 

Cable Carrier> 
I 

36



Product Code. Dimension Bending Pitch Weight Product Code. Dimension Bending Pitch Weight 
A B c D Radius R Kg A B c D RadiusR Kg 

CK42A040R 42 40 58 67 62 1.68 CK60Y080R 60 100 82 132 91 3.00 
CK42A050R 42 50 58 77 62 1.74 CK60Y140 R 60 140 82 172 91 3.40 
CK42A060R 42 60 58 87 75, 100, 62 1.80 CK60Y200R 60 200 82 232 150, 200, 91 3.90 
CK42A080R 42 80 58 107 150,200 62 1.93 CK60K080R 60 100 82 132 250, 300 91 3.50 
CK42A100R 42 100 58 127 62 2.06 CK60K 140R 60 140 82 172 91 3.90 
CK42A 120 R 42 120 58 147 62 2.20 CK60K200R 60 200 82 232 91 4.40 
CK42A 125R 42 125 58 152 62 2.28 
CK42Y050R 42 50 58 77 62 1.90 
CK42Y080R 42 80 58 107 62 2.02 
CK42Y 100R 42 100 58 127 62 2.14 
CK42Y 125R 42 125 58 152 62 2.26 
CK42 KOSO R 42 50 58 77 100, 62 2.36 
CK42K080R 42 80 58 107 150, 200 62 2.48 
CK42 K 100 R 42 100 58 127 62 2.60 
CK42 K 125 R 42 125 58 152 62 2.72 

Product Code. Dimension Bending Pitch Weight Product Code. Dimension Bending Pitch Weight 
A B c D Radius R Kg A B c D Radius R Kg 

CK35Y040R 35 40 52 64 56 1.56 CK60A080R 60 80 82 112 91 2.98 
CK35Y060R 35 60 52 84 56 1.66 CK60A100R 60 100 82 132 100, 150, 91 3.11 
CK35Y080 R 35 80 52 104 100, 150 56 1.76 CK60A120R 60 120 82 152 200, 250, 91 3.24 
CK35Y 100R 35 100 52 124 56 1.86 CK60A140R 60 140 82 172 300 91 3.37 
CK35Y 125R 35 125 52 149 56 2.00 CK60A160R 60 160 82 192 91 3.50 
CK35 K040 R 35 40 52 64 56 1.68 CK60A180R 60 180 82 212 91 3.63 
CK35 K060 R 35 60 52 84 56 1.78 CK60A200R 60 200 82 232 91 3.76 
CK35 KOSO R 35 80 52 104 100, 150 56 1.88 
CK35 K 100 R 35 100 52 124 56 2.15 
CK35 K 125 R 35 125 52 149 56 2.35 

Product Code. Dimension Bending Pitch Weight Product Code. Dimension Bending Pitch Weight 

A B c D Radius R Kg A B c D RadiusR Kg 
CK35A040 R 35 40 52 64 56 1.45 CK40A080R 40 80 62 108 72 2.85 
CK35A050R 35 50 52 74 56 1.53 CK40A100R 40 100 62 128 75, 100, 72 2.99 
CK35A060R 35 60 52 84 50, 75, 56 1.61 CK40A120R 40 120 62 148 125, 150, 72 3.11 
CK35A080 R 35 80 52 104 100, 150 56 1.76 CK40A140R 40 140 62 168 200, 250, 72 3.24 
CK35A 100 R 35 100 52 124 56 1.91 CK40A160R 40 160 62 188 300 72 3.37 
CK35A 120 R 35 120 52 144 56 2.06 CK40A180R 40 180 62 208 72 3.50 
CK35A 125 R 35 125 52 149 56 2.13 CK40A200R 40 200 62 228 72 3.63 

CK40A100R 40 100 62 128 125, 150, 72 3.17 
CK40A100R 40 100 62 128 200, 250, 72 3.24 

300 

37



(,,,,._.. f , T') ,,,,._.. CNC ..,t.. o~l , IA .::.,4, 4! JL.;I ~t; e 

;,,_,.IS' 4! jl,_; .:..,~ • 

USB 4! JL.;I ~t; e 

STEPPER MOTOR , SERVO MOTOR ..,jl.i.;I ol, e 

~..,t...~)l..S)!)IS' • 

.;, .>! ' u5'~ ..,Lo. .~) ..,I.I! .,..._,t:... • 

RICHAUTO ..IJ r. DSP } ,ZS 

CNC, ~ .::.,YJ .:r.-:,t. ,,IS', U""t.:. .:.;.L., ~ .,..._,t:... • 
...bu >~I , j!L ,l • 

Y4 ..::.il 4 ._,;,,;J.>, ..,.,,,_:,,,;. ..,Lo. ~r.? • 
0,!~ ,I::-! ._)) ..,l,b • 

.:,l~t; ,,.:,s .:.;.L, • 

~Ir' ..,Lo. ~A ..,l,b • 

.::.,I, ,1J O.b JI .::.,I, ,1J \ .o ~, ,l • 
....:....:, • ,.$.;.., • ..,..~ •fa..s,,..s,IS'j}.::.,~ ..,..,_..,;,,.. • 

0,!~ ..,1.i... >~I • 

~ ,,.:s .:.;.L, • 

HQ (water cooled) IJl.l.J,_;,-. J~I 

\..,, 

\., 

Y4 ..sx~ .:....:.! .>! , u!l,IS' • 

.~ ~...,:.,: ,11;:;1.yi; ~ • ~ 

l>..o c..r. .::..5 ;> , 0,!~ ..,jt.,.;1 .1, ,,!:..:.! • 
._;,il ,I.ii , CNC .::., Yl .:r.-:,t. Jl > >!>IS' e 

...bu l~I, <J'>f ,l • 

._,iii , ..Sl,.S- ..,t... ,,,,._.. tlfl ,) olt.:....I .}.\; • ~ 

.:,l~t; ,,.:5 .:...>L • 

.),>..;!,>J'f'<4"BMS~ 

r,1;... ,I.--! ,1:;.L • 

.,.._,,;u=>I, • ~ 
.::....:. ..,,, jl ,i;. ..s~ ..ih 

Mach3..,t...,.,;....; rWjl J..IS' ._,;!,,:.; • 
,\o~lwl.P .;,,-t;..:.,,~USB.,.._,,;'1_..,jLl~jlj..lS' ._,;\,,:.; e ~ 

. l}> _,!;; y.j I, USBJL.;l .;.,,..o, .I..><! I" .::.,,IS' 
,,,,._.. r fS'l.1> 1; ._,;!,,:.; • \..,, ,,) 

. ..::..,I f· ·KHz rt! 4! rt! ..,J~ ._,..;IS'} • 
USB JL..1 yb .:.,L:.; i) .i.;I,; ._,,. .;.,,,...;, <.J">t.:. r ,,-, o.>:.:.S' ~Ll ~) • 

.),_:. ~1, .i,_i., .:,l.,s',IS' .;.,,,...;, .:,lb .:.,L:.; ..,I.I! .:.,l.,s' ~ 4, 
.,,i..:.. ....... ..Sl''' \r • 

i) Mach) ~, f 0i;. r. ,,-,,. ~1,.:.... r> • ..::..,I.:.... r> l.,s',IS' ..,1,1, • 

J:; i)~ <.r!l.; 4:><A.D 

38



'>'4.::....,-.,;.>JIS'~\j • 

r,t... ' ~ ;l:-! • -Ill( 
~~le>!~ • 

.:,,,L x 4 .~ w; ...,..,_.,.,;.. jl,,Ji 4 .,..,, ,; ..,4 jl • 

'>'4 Jl:-! ._;.;;...., • 
,1; .,;:;L ~ J-' O· · t; .:..}p- y.ly. )-' r,t... • 

~-'i ..s.;i xix i.> r,t... • 
1,,J'=!I J,.:.5 ..:..;.L • 

) 

,:y.f x }, rf jl,,Ji jl .~ ..:.;.L • 

~,i.,) ' yl y.ly. )-' ,.,t... • ..... 

) 

yJ"'f .. ._,..;IS') pl.I.> • 
J>b PLC 01}.> • 

,5.._..:,~jl.;t,,,::.; • 
) 

SDu}S'jl..,.;l,,,::.; e 

~I \ • l; 'f 0Lo. j,!L J-' • -Ill( 
0:-1.4, '>'4 ...slo. .;,.:.,),j) J-' .,~,. • 

\.J~JJ~I 
EL , M , B , C200 , LS600 , L : _;us;; c.5t.,, c.Sr' 

M , B , C200 , C2000 , CP2000 : _;ls ...., c.5t.,, c.Sr' 

l.l~HMI 

• > . . 
\, ) 

.:.I, ,J.S'V.l> l; ·X ~u> • 

C-:! r- , w .:.;., 4 J,~1 • 

0,La:il i1;;1 r; 01i1, • 

.:,Loj ,-.. .:..J,-., ~ .i... r J.,::.L::~\i 4 • 
J>b .:...,..;,. J;.:! ~ J>b ..Wb f'f ...sl)b • 

~ ~ - I --- 
K f'f l; c.r,!,_; ._.1; y. 4 )i, • 

MPG <.S-',i, ;I ..,.;l,,,::.; • 

M-code , G-code jl .;l,,,::.; • 

..?.,J>I ...s-'m o, r 1; 'f 01)1, • 

l.l~PLC 

LINE HAREKAT Co. 
LI IC> 

39



Other product > 

XL , L , H , \"M , OM , AM , TO , T\ • , B-H , B-L 

.... ~ r. ._,..)~ O· .... \; <.?.,_,;. U • 
..:,Lo.,;..,, ),,.... ..;..:, J.,::S • 

J4., <.?.,.,;. n , ..s>m n • 
PWM, ..5 ,J~l <.?.,_,;. I' • 

).1.;Loj ._Iii n',..)>b ~L, ..sl}, • 

..k,= ' 't'O'"' If. 0~) ..,.....; ~li • 
>,,.._. ,. , 'f .r 0i... J.1.o >' • 

;,..-IS' jl;,, 'f· ..J...,l, \; LAN 0)~ • 

Radonix .,Jr! 

Motion Control 0l.o. .._.,x 01y. ..,._.L:.. , G-CODE jl .;~ • 

PMC Modbus ~,x jl .;~ • 

REAL TIME Jp ..sj,J,:5-; • 

>i,. r.:-,1 ~ >i,. ">"" >,,.._. ,-1; J.,::S ~li • 
..:.;;I yl.o., LAN .Y.lS' ~ 0>lS' .x~ JL...;I ~li • 

ADtech .,Jr! 

-- --- 

ertz 
NOUMOTORS 

01, ,!,? r · JI 01, ,!,? \ 01.o, ,:,Ii~> >' • 
...(,;t..,;1, u=-,, hil i.P!,-; J.1.o ,, ), • 

lo)~I >,_:$ .:'..>L.. • 

HSDJ~l 

•J\-',~tl,;I • 
~,~1,xL..» • 

Jo'> y ),. ' ....;L, J.1.o ,, ), • 
,.! ..sl.i.o ' )'~ .;...;, • ..ii( 
\. JI\ ..st..~)), • 

,))!\; ),.:.! .:'..>L.. • 

:J.L.:. J~I J-1! 0!.l., • 

~A~ - .} ..,_.t; - J~l ..s,> ..,..>,_.} • ..ii( 

LINE HAREKAT Co. 
LI IC> 

Www.Line-harekat.ir 40


	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7
	Page 8
	Page 9
	Page 10
	Page 11
	Page 12
	Page 13
	Page 14
	Page 15
	Page 16
	Page 17
	Page 18
	Page 19
	Page 20
	Page 21
	Page 22
	Page 23
	Page 24
	Page 25
	Page 26
	Page 27
	Page 28
	Page 29
	Page 30
	Page 31
	Page 32
	Page 33
	Page 34
	Page 35
	Page 36
	Page 37
	Page 38
	Page 39
	Page 40

